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1. (a) In your opinion which good qualities should be reflected in Corporate Fi
Reporting ? Explain.

OR
Explain the role of qualitative characteristics of Financial Repo
(b) Attempt any two :

4
(1) Write objectives of Financial Statements.
(1) Explain elements of Financial Statemen
(111) How Corporate Financial Reports S al investors ?
(c) (1) What is accrual base ? 3
(11) Explain going concern b
(111) What 1s report ‘?'
2.  (a) “Voluntary disclo ' lement to mandatory disclosure.” Discuss
t 7
OR
an by compulsory disclosure ? Discuss characteristics and
(b) 4
i1s the role of ICAI for Corporate Financial Reporting ?
guish between Regulatory body and Professional body.
Explain any one component of voluntary disclosure.
“ICAI and SEBI are supplement to each other.” Is this true statement ? 3

What 1s value added statement ?

(111) What is SEBI ?
N22-101 5 P.T.O.



3. Attempt any two : 14

(i) Ahmedabad Ltd. has acquired machine from American supplier for US $
1,00,000 (At Exchange rate US $ 1 = ¥ 62.80). Transportation cost was US $
5000. Custom duty @ 10% and company is entitled to enjoy duty draw back.
Installation expenses were T 1,50,000 and technical fees was US $ 1,000 (at'
exchange rate US $ 1 = ¥ 63). Test expense was I 50,000 and income ’1
selling of Test products was I 20,000. Determine cost of fixed assets.

(1) Explain the concept of ‘weighted average number of equity shares outst
during the period’. State how would you compute, based weight

number of equity shares for the following case as per AS-20:
Date Transactions No. of S
1-4-2013 Balance of Equity shares
31-8-2013  Equity shares issued for cash
1-2-2014 Buy back of shares

31-3-2014  Balance of equity sh
(i11) Explain concept of events ocgurri er the Balance -Sheet date. Explain the
following event in th‘ EX ' dard.
\

Event : - In final a e year ended 31-3-2014 company has provision
for bad debts otal receivables. In the first week of March, 2014 a
debtor for ad suffered heavy loss due to cyclone, the loss was not

covere e. In April 2014, the debtor became a bankrupt.

(iv)@ R 18 (Disclosure of accounting policies OR Related party

What is segmental reporting 7 Why it is being prepared ? Explain its territory. 14

,30,000

Explain reportable segment.

OR
N22-101 6



(a)
(b)
5 (a)
(b)
N22-101

Raksha Company Limited is of the opinion that from the following segmental

information, segment food and plastic are sufficient to report segmental

information. Do you agree with the opinion of the company ? Explain.

(X in crores)

Segments
Food | Plastic | Health | Textile | Pharma | FMCG
Particulars
Segment Revenue 450 930 120 90 120 90
Segment Result 75| (285) 15 15 (15) 45
Segment Assets 60 120 45 30 30 15

Shakti Limited had provided information for profitability status of differént
segments. You are asked to identify reportable segments :

(R in crores)
egments L M N 0 ' Y
Results
Profit (Loss) 1350 150 (1050) (120) (630)

State whether the following statements are{rue or false :

(1)

financial reporting.

(i1)
(111)
(1v)
(V)
(Vi)

Mandatory diselosure contains only quantitative items.

Mandatory disclosure can beseplaced by voluntary disclosure.

AS 11 is applicable for disclosure of accounting policies.

Clause 49 1s applicable to corporate governance report.

Reliability 1s substitute off rélevance<as an qualitative characteristic of

As per new schedule investments are categorized into one category.

(vii) Inflation accounting has universally accepted method of disclosure.

Select true option from given options of each case :

(i)

after Balance Sheet date ?

7

Closing date of Financial Year.

Date of draft of Financial Statements.

Date of announcement of Financial Statements.

Date when Financial Statements approved by the BOD.

Which of the following is irrelevant date in the context of events occurring

P.T.O.



(1) Which of the following options can be considered for determination of
significant influence ?
(a) Representation in the BOD.
(b) Participation in the policy making decision.
(c) Interchange of managerial personnel.
(d) All of the above
(111) Which of the following is not Fundamental Accounting assumptions as pm"
AS17? '
(a) Going concern
(b) Consistency
(¢) Accrual
(d) Materiality
(iv) X Company has following transactions from1-4-2013 to 3

Shares outstanding 1-4-2013 15,
Shares issued on 31-7-2013
Buy back of shares 31-12-2013 3
Buy back of shares 31-3-2014

arning per share

purpose.
(a) 18,250
(b) 19,250
(¢) 19,125
(d) 19,625

Determine weighted average number
(v) Which of the fuwin

ed termination of reportable segment ?
(a) Proportion n sales
(b) Profito all segments
(¢) Pro sets to total assets of all segments
(d) Al a
(vi) AS icable to

L
( S
(b ' rights
1vestock

11 of the above
of the following is exception of related party ?

Providers of Finance

(b) Trade Union

(c) Government departments and agencies
(d) All of the above
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